Worksheet 1

When 45 is divided by 9 by repeated subtraction, how many times do we subtract
9 repeatedly?

If 30 toffees are distributed in groups of 3, how many toffees will each group get?

If 28 biscuits are shared equally among 4 groups, how many biscuits will each
group get?

Use long division method to solve 639 + 3. Also, write the dividend, divisor, quotient
and remainder.

Use the long division method to solve 429 + 7. Also, write the quotient and the
remainder.

30 items are arranged in groups of 5. Write the multiplication and the related
division facts.

Write the related multiplication fact for the division problem: 36 + 9 = 4.
Write 2 division facts for the multiplication fact: 5 x 8 = 40.
Solve by short division method: 60 + 7.

Sunita called her classmates for a tea party. She baked biscuits at home. She can
place 8 biscuits at a time on the baking tray. How many times will she fill the tray to
bake 200 biscuits?
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Worksheet 2

When 54 is divided by 6 by repeated subtraction, how many times do we subtract
6 repeatedly?

If 36 sticks are distributed in 12 groups, how many sticks will each group get?
If 48 bananas are shared equally among 8 groups, how many bananas will each
group get?

Divide and check 428 + 6.

If divisor = 4, quotient = 8, remainder = 3, find the dividend.

If dividend = 49, divisor = 6, find the quotient and the remainder.

Rekha baked 50 cupcakes and packed them in boxes with 3 cupcakes in each
box. If 2 cupcakes were left, how many boxes were packed?

Form a correct division sum using the numbers given below. Write the dividend,
divisor, quotient and remainder, and verify the rule.

653, 6, 108, 5

Use the long division method to solve 203 + 8. Also, write the quotient and the
remainder.

A bus can accommodate 90 passengers. If there are 5 seats in each row in the
bus, how many rows of seats are there in the bus?
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Answers to Worksheet 1
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5 times 2. 10 toffees

7 biscuits

Dividend = 639; divisor = 3; quotient = 213, remainder = 0

Quotient = 61, remainder = 2

Multiplication fact : 6 x 5 =30 ; Divisionfact: 30+5=6

4 x9=236 8. 40+5=8and40+8=5
Quotient = 8, remainder = 4 10. 25 times

Answers to Worksheet 2

1

3
5.
7.
8
9

9 times 2. 3 sticks

6 bananas 4, Quotient = 71, remainder = 2
35 6. Quotient = 8, remainder = 1
16 boxes

Dividend = 653; Divisor = 6; Quotient = 108 ; Remainder = 5

Quotient = 25, remainder = 3 10. 18 rows
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